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=SREF B M

Bz #EFH F—LE & #BA
1 Hf 5E BEZZ 3 12100
2 HE E% ®EZEE 1 11750
3 hnEk ER B & 3 11.600
4 HLE Bt BEEK 3 11.200
5 ZiwE £ BEZEE 1 11.050
6 FMTFXARER KER 3 10850
7 o)l BiE HFIE 3 10800
8 BEH BN mFIE 2 10500
9 HIR B T FIE 3 9.950
10 /M =8 0 B 1 9.900
1 B 8K & B 3 9.750
11 EBEZN HEER 1 9.750
13 M #X EF H# 2 8.900
14 MWK EBAF H# H 1 8.850
15 4@ EEF & B 3 8.750
ERBEF B B
Bz #EFH F—LE & #BA
1 WA &% B X 3 12900
2 /MT REE B X 3 12500
3 K ME BEEE 2 12450
4 {E# BAR BUEEK 3 11.900
5 & B H KX 3 11650
6 &HM H B B 3 11150
7 KR &5 BEEXRZ 2 10950
8 KRZ &BE EEZZ 2 10800
9 BE FXK TFIE 2 9.950
10 WF B T FRIE 2 9.750
11 WA &% #EER 2 9.250
12 #%K BEXK #E A 1 9.100
ERTF B B
B #EFH F—LE & #BA
1 & Hf & HBH 2 13350
2 #F KF OBEBEK 2 13100
3 =ik B EFLH 3 11850
4 F BE BEEM 1 11350
5 BAMJIIES # E 3 10950
6 A FEE& BH O OX 3 10900
7 BB EE # E 2 9.900
8 X¥H W # HE 1 9.550
8 AR BW TJzUR 2 9.550
10 RB &% # E 3 9.400
10 /IMMEHT FEHRE 2 9.400
12 BF BF% # &H 1 9.350
13 FEl &8 JzURX 2 8.350
14 HANMEF MFEFE 3 8.300
15 P/ F B K3 7.050
16 &7F BTt HEFEE 1 6.550
17 Eid HE 8 FH 1 5.400

RErBa8RAR—Yt 52— 2008/5/18
ERBF HASE
B EFRE F—LB & #BE
1 Ih7) K H K 3 13.000
2 AP HH BEEBK 3 12550
3 HL & FEHLEE 2 12150
4 HEHF BEA EEZERER 1 12050
5 ZH # H X 3 11800
6 Pt BER BEFEZxZ 3 10.800
ERBF DUk
B EFE F—LH & #BE
1T =% B’ EBEEERZE 2 12700
2  HHE M BEZEE 2 12550
3 fREH ®A BEEBK 2 12450
4 T k#t B & 3 12000
5 FE —th # BN 3 9.000
ERBEF FEiTHE
B EFE F—LH H  #BE
1 =EE ME BEBKXK 3 12000
2 JIE B FEHEE 2 11400
3 HiE EHA BEZEE 3 10400
ERBF % B
B EFE F—LH H  #BE
1 ®H KE BEEBK 3 13300
2 BX #X #EZER 3 10250
3 ER BX #EmKX 2 7.600
EREF BEVEST
B EFE F—LH H  #BE
1 & RE OBEZEM 2 11700
2 kB MR BEEXRMD 2 9.800
3 HE it HE H 3 9.400
4 HHF FF X B 2 7.300
5 INE Ak FEKRES 1 6.350
6 =K BFEX MFIE 3 3.300



EREF P

Bz #EFH F—LE & #BA
1 XB & BMEZEM 1 12350
2 FIHBBEE K ERIR 1 10.800
3 MFERF #& H 3 10.600
3 T Bk # H 2 10.600
5 MU E® TJIYX 2 10450
6 Hh =i @EJIFE 2 10100
7 B | O B2 9.800
8 ERBNEFF KERIR 2 9.250
9 FEBLHLEZ MEE 3 8.500
10 JEF BkF M EE 3 8.300
1M1 #BK = mFRIE 3 8.100
12 XKt #@®% KERR 3 7.900
13 #HKBEEF & B 3 7.050
14 W@ $#EH JzUXR 1 6.700
15 FMAZERE F 1B 2 3.600
—fRBF B H»

B #EFH F—LE & #BA
1 HEAX & XJIoB 12.200
2 JEH EE FEJIOB 11.950
3 HE %ZF XEJIOB 11.750
3 f@BHE E t'-xcCO. 11.750
5 A % FIX0oB 10.350
6 H&EZ%Z—EF EAOB 9.550

—fRBF F1TH

B #EFH F—LE & #BA

1 T —F #KOB 10.400

EREF EHE
B EFE F—LH H #BE
1 ZHXRDPE BEEFK 3 12400
2 KI5 Efk BEZEM 2 12000
3 WIEEBEEFE # H 3 11.400
3 BHR ¥ {ZE#HKSE 2 11400
5 EH TE #FE#HA& 3 10.700
6 H* KKk # H 2 8.700
7 {FE R BFEKEES 8.300
8 B ¥{& B X 3 7.900
9 =% BB 3] 3 7.200
9 IVEIPH FEKRE 2 7.200
11 B Ef MEXE 2 6.950
12 Wik 5H HEER 1 6.850
13 J\KEEXK HEFEE 1 6.750
14 EARX T MEEXE 1 5.200
15 A= ¥ # EBE 3 4.850
16 EBW & BEXFE 2 4.800
17 RI%KEE B X 3 4.100
18 42 B WMFIER 3 3.700
19 [EH 2 == H® 3 2.200
20 ERFEFM £ | 3 1.900
21 5 HE F B 3 1.700

—RBF HAE
B EFE F—LH H  #BE
1 ™TFT —F #HKOB 13.450

—BEBF B B
B EFE F—LB & #BE
1 JEH EE EJIoB 11.900
2 H#HE ZF EJIOB 11.400
3 HE % FiIRoB 11.300
4 [{AX & EJIOB 11.000



